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1 37 101 HEZEBY Sy ht 28 1 119. 56 £ 13507
2 37 102 HEZEEY )55 28 1 85. 97 5 13947
3 37 103 HEZEEY )55 28 1 85. 97 5 13947
4 37 104 HEZRBY ) 5% 28 1 119. 56 i 13177
5 37 201 HEZR B S 1 28 2 119. 56 s 14467
6 37 202 HEZE B A fie 28 2 104. 13 2 14937
7 37 203 HEZE B A fie 28 2 104. 13 2 14937
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8 37 204 | HEZLEY Sy 28 2 119. 56 (E=ct 14117
9 37 301 HE SRR 1 28 3 119. 56 £ 15027
10 37 302 | HEALEYJjhE 28 3 104. 13 8 15507
11 37 303 | HEALEYJjhE 28 3 104. 13 5 15507
12 37 304 | HEZLET SyR% 28 3 119. 56 i 14657
13 37 401 | HEZLET yR% 28 4 119. 56 i 15257
14 37 402 | HEZEEBY i85 28 4 104. 13 = 15757
15 37 403 | HEZEEY 8% 28 4 104. 13 JE=ct 15757
16 37 404 | HEZEEY Sy RE 28 4 119. 56 =z 14887
17 37 501 HEZEBY Sy 5t 28 5 119. 56 £ 15867
18 37 502 | HEZLEYJ)HE 28 5 104. 13 = 16377
19 37 503 | HEZLEYJ)HE 28 5 104. 13 = 16377
20 37 504 | HEALET fih% 28 5 119. 56 g 15477
21 37 601 | HEALET fyh% 28 6 119. 56 g 15927
22 37 602 | HEZLET ik 28 6 104. 13 i 16447
23 37 603 | HEZLET ik 28 6 104. 13 i 16447
24 37 604 | HEZLET JyH% 28 6 119. 56 = 15547
25 37 701 | HEZLBYIIRE 28 7 119. 56 = 15967
26 37 702 | HEZLEY R 28 7 104. 13 g 16487
27 37 703 | HEZLEY R 28 7 104. 13 g 16487
28 37 704 | HEZEEYJ)HE 28 7 119. 56 E=ct 15587
29 37 801 | HEZLEYJjh 28 8 119. 56 E=ct 16007
30 37 802 | MELLEY JykE 28 8 104. 13 Ec 16527
31 37 803 | HEHLEY IR 28 8 104. 13 % 16527
32 37 804 | HMEZLEY Syks 28 8 119. 56 i 15617
33 37 901 HESLBY 1 28 9 119. 56 i 16047
34 37 902 | HEALEYJjhE 28 9 104. 13 2 16567
35 37 903 | HEZLEYIRE 28 9 104. 13 2 16567
36 37 904 | HEZLEY iR 28 9 119. 56 i 15657
37 37 1001 | HEZLEY Jjhk 28 10 119. 56 i 16087
38 37 1002 | HELLEY Sk 28 10 104. 13 = 16607
39 37 1003 | HEZLEYJjHE 28 10 104. 13 JE=ct 16607
40 37 1004 | HEZEBT Syhk 28 10 119. 56 Ec 15697
41 37 1101 | HEZLBY I HE 28 11 119. 56 g 16127
42 37 1102 | HEZLEY Jyh% 28 11 104. 13 = 16647
43 37 1103 | HEZLEY Jyh% 28 11 104. 13 = 16647
44 37 1104 | HELLEY fyh% 28 11 119. 56 g 15737
45 37 1201 | HELLEY yh% 28 12 119. 56 g 16167
46 37 1202 | HEZEEY Jphs 28 12 104. 13 i 16687
47 37 1203 | HEZEHY Jyhk 28 12 104. 13 i 16687
48 37 1204 | HELLEY JyH% 28 12 119. 56 = 15777
49 37 1301 | HEZLEY )RS 28 13 119. 56 = 16207




50 37 1302 | HEZLHY Jyhs 28 13 104. 13 i 16737
51 37 1303 | HEZLEY Jyhk 28 13 104. 13 i 16737
52 37 1304 | HEZLEYJjHE 28 13 119. 56 = 15817
53 37 1401 | HEZLEYJ)HE 28 14 119. 56 5 16087
54 37 1402 | HEZLEY Jyhk 28 14 104. 13 i 16607
55 37 1403 | HEZLBY Jyhk 28 14 104. 13 i 16607
56 37 1404 | HELLEY Sy 28 14 119. 56 = 15697
57 37 1501 | HEZLEYJjHE 28 15 119. 56 JE=ct 16237
58 37 1502 | HEZLBY Jyh% 28 15 104. 13 g 16767
59 37 1503 | HEZEBY J 85 28 15 104. 13 =z 16767
60 37 1504 | HEZLEY Jyh% 28 15 119. 56 = 15847
61 37 1601 | HEZLEYJjhE 28 16 119. 56 = 16277
62 37 1602 | HELLEY Syh% 28 16 104. 13 g 16797
63 37 1603 | HELLEY yh% 28 16 104. 13 g 16797
64 37 1604 | HEZLEY Jyhk 28 16 119. 56 i 15877
65 37 1701 | HEZEHY Jyh% 28 17 119. 56 i 16307
66 37 1702 | HELLEY Sy 28 17 104. 13 = 16827
67 37 1703 | HEZLEY 1KY 28 17 104. 13 = 16827
68 37 1704 | HEZLEYJjHE 28 17 119. 56 g 15907
69 37 1801 | HEALEYJjHE 28 18 119. 56 g 16087
70 37 1802 | HEZLEY Skl 28 18 104. 13 E=ct 16607
71 37 1803 | HEZLEYJjhE 28 18 104. 13 E=ct 16607
72 37 1804 | HEZEBY fihk 28 18 119. 56 Ec 15697
73 37 1901 | HEZLHYJjHE 28 19 119. 56 Ec 16337
74 37 1902 | HEZLEY Jyhk 28 19 104. 13 i 16867
75 37 1903 | HEZLEY JyHk 28 19 104. 13 i 16867
76 37 1904 | HEZLEYJjHE 28 19 119. 56 2 15937
77 37 2001 | HEZEEY 8% 28 20 119. 56 5 16367
78 37 2002 | HEZEEY JyHY 28 20 104. 13 i 16897
79 37 2003 | HEZEEY JyHY 28 20 104. 13 i 16897
80 37 2004 | HEZEEY 85 28 20 119. 56 = 15967
81 37 2101 | HEZEEBY 8% 28 21 119. 56 i 16397
82 37 2102 | HEZEBY iRk 28 21 104. 13 Ec 16927
83 37 2103 | HEZEBY 28 21 104. 13 Ec 16927
84 37 2104 | HEZEBY )85 28 21 119. 56 = 16007
85 37 2201 | HEZEEY 8% 28 22 119. 56 = 16357
86 37 2202 | HEZEEY i85 28 22 104. 13 g 16887
87 37 2203 | HEZEDY iH5 28 22 104. 13 g 16887
88 37 2204 | HEZEEY JyHY 28 22 119. 56 i 15967
89 37 2301 | HEZEEY JyHY 28 23 119. 56 i 16317
90 37 2302 | HEZEEYJ 8 28 23 104. 13 = 16847
91 37 2303 | HEZEEY ) HE 28 23 104. 13 = 16847




92 37 2304 | HEZEEY JyHY 28 23 119. 56 i 15927
93 37 2401 | HE4LBY Jyks 28 24 119. 56 i 16277
94 37 2402 | HEZEEY 8% 28 24 104. 13 = 16807
95 37 2403 | HEZEEY 8% 28 24 104. 13 2 16807
96 37 2404 | HEZEEY JyBY 28 24 119. 56 i 15887
97 37 2501 | HEZEEY JyHY 28 25 119. 56 i 16237
98 37 2502 | HEZEEY 85 28 25 104. 13 = 16767
99 37 2503 | HEZEEBY 8% 28 25 104. 13 JE=ct 16767
100 37 2504 | AHEZEEY S RY 28 25 119. 56 £ 15847
101 37 2601 | HEZEBY iR 28 26 119. 56 =z 16197
102 37 2602 | HEZEEYJjHG 28 26 104. 13 = 16727
103 37 2603 | HEZEBY )84 28 26 104. 13 = 16727
104 37 2604 | HEZEDY yHG 28 26 119. 56 g 15807
105 37 2701 | HEZEDY i85 28 27 119. 83 g 15927
106 37 2702 | HEZEBY JyHY 28 27 104. 41 i 16447
107 37 2703 | HEZEEY JyHY 28 27 104. 41 i 16447
108 37 2704 | HEZEEBY 8% 28 27 119. 83 e 15547
109 40 101 | HEZEBY ) 4% 28 1 76. 37 = 13277
110 40 102 HEZE B F7 5 28 1 99. 32 5 13347
111 40 103 | HEZLHY J 5% 28 1 99. 32 g 13227
112 40 104 | HEZEEBY )84 28 1 76. 37 E=ct 12727
113 40 201 | HEZLEY Jjh% 28 2 110. 27 & 14217
114 40 202 | HMELLET iKY 28 2 99. 32 Ec 14297
115 40 203 | HEZLEYIRE 28 2 99. 32 g 14167
116 40 204 | HEZLET iR 28 2 110. 27 i 13627
117 40 301 | HEZRET SR 28 3 110. 27 i 14767
118 40 302 | HEZLEYJjRE 28 3 99. 32 2 14847
119 40 303 | HEZLEYJjhE 28 3 99. 32 5 14717
120 40 304 | HEZLET SiR% 28 3 110. 27 i 14147
121 40 401 | HEZLET JyR% 28 4 110. 27 i 14997
122 40 402 | HEZEEBY i85 28 4 99. 32 = 15077
123 40 403 | HEZEEY i85 28 4 99. 32 JE=ct 14947
124 40 404 | HEBEEY iKY 28 4 110. 27 Ec 14377
125 40 501 | HEZEBY R 28 5 110. 27 Ect 15597
126 40 502 | HEZLEYJ)HE 28 5 99. 32 = 15677
127 40 503 | HEZLEYJ)HE 28 5 99. 32 = 15537
128 40 504 | HEALEY fyh% 28 5 110. 27 g 14947
129 40 601 | HEALET fyh% 28 6 110. 27 8 15657
130 40 602 | HEZLET ik 28 6 99. 32 i 15747
131 40 603 | HEZLET ik 28 6 99. 32 i 15607
132 40 604 | HEZLET JyH% 28 6 110. 27 = 15007
133 40 701 | HMEZLBYIRE 28 7 110. 27 = 15697




134 40 702 | HEZREY Jyhk 28 7 99. 32 i 15777
135 40 703 | HEZREY Jyhk 28 7 99. 32 i 15647
136 40 704 | HEZLEYJ)HE 28 7 110. 27 8 15047
137 40 801 | HEALEYJ k% 28 8 110. 27 g 15737
138 40 802 | HMEZLEY Jyks 28 8 99. 32 i 15817
139 40 803 | HMEZLEY Jyks 28 8 99. 32 i 15677
140 40 804 | HEHLEY IR 28 8 110. 27 = 15077
141 40 901 | HEZLEY IR 28 9 110. 27 JE=ct 15777
142 40 902 | HEZLBYJIEE 28 9 99. 32 =z 15857
143 40 903 | HEZLEY Jjh% 28 9 99. 32 = 15717
144 40 904 | HEZLEYJjhE 28 9 110. 27 = 15117
145 40 1001 | HEZLEY Jyh% 28 10 110. 27 = 15817
146 40 1002 | HELLEY Syh% 28 10 99. 32 8 15897
147 40 1003 | HELLEY Syh% 28 10 99. 32 g 15757
148 40 1004 | HEZELEY Jyhk 28 10 110. 27 i 15157
149 40 1101 | HEZEEY Jyhk 28 11 110. 27 i 15857
150 40 1102 | HELLEY Jyh% 28 11 99. 32 = 15937
151 40 1103 | HEZLEY 1KY 28 11 99. 32 = 15797
152 40 1104 | HEALBY ) HE 28 11 110. 27 i 15197
153 40 1201 | HEALBYJjHE 28 12 110. 27 g 15897
154 40 1202 | HEZLEY Sk 28 12 99. 32 E=ct 15977
155 40 1203 | HEZLEY Sk 28 12 99. 32 g 15837
156 40 1204 | HEZEBT Sihk 28 12 110. 27 Ec 15227
157 40 1301 | HEZLHYJjHE 28 13 110. 27 g 15927
158 40 1302 | HEZLEY Jyhs 28 13 99. 32 i 16017
159 40 1303 | HEZLEY Jyhk 28 13 99. 32 i 15877
160 40 1304 | HEZLEYJjHE 28 13 110. 27 5 15267
161 40 1401 | HEZLEYJjHE 28 14 110. 27 2 15817
162 40 1402 | HEZLEY Jjhk 28 14 99. 32 i 15897
163 40 1403 | HEZELEY Jyhk 28 14 99. 32 i 15757
164 40 1404 | HELLEY Sy 28 14 110. 27 = 15157
165 40 1501 | HELLEY Sy 28 15 110. 27 JE=ct 15967
166 40 1502 | HEZLEY k% 28 15 99. 32 Ect 16047
167 40 1503 | HEZEBY JjhG 28 15 99. 32 Ec 15907
168 40 1504 | HEZLEY Sy 28 15 110. 27 = 15297
169 40 1601 | HEZLEY Jyh% 28 16 110. 27 = 15997
170 40 1602 | HELLEY yh% 28 16 99. 32 8 16077
171 40 1603 | HELLEY yh% 28 16 99. 32 g 15937
172 40 1604 | HEZLBY Jyhk 28 16 110. 27 i 15327
173 40 1701 | HEZEBY Jyhk 28 17 110. 27 i 16027
174 40 1702 | HELLEY Sy 28 17 99. 32 = 16107
175 40 1703 | HEZLEY 1KY 28 17 99. 32 = 15967

10




176 40 1704 | HEZLHY Jyhk 28 17 110. 27 i 15357
177 40 1801 | HEZLEY Jyhk 28 18 110. 27 i 15817
178 40 1802 | HEZLEYJjHE 28 18 99. 32 = 15897
179 40 1803 | HEZLEYJjHE 28 18 99. 32 2 15757
180 40 1804 | HMEZLEY Jjhk 28 18 110. 27 i 15157
181 40 1901 | HEZLEY Jyhk 28 19 110. 27 i 16057
182 40 1902 | HELLEY Sy 28 19 99. 32 = 16147
183 40 1903 | HELLEY Sk 28 19 99. 32 JE=ct 15997
184 40 1904 | HELEBYT SyRE 28 19 110. 27 =z 15387
185 40 2001 | HEZEEY I HE 28 20 110. 27 =z 16087
186 40 2002 | HEZEEY ) HE 28 20 99. 32 = 16177
187 40 2003 | HEZEEY 8% 28 20 99. 32 = 16027
188 40 2004 | HEZETY i85 28 20 110. 27 g 15417
189 40 2101 | HEZEEY JoH5 28 21 110. 27 g 16117
190 40 2102 | HEZEEY JyHY 28 21 99. 32 i 16207
191 40 2103 | HEZEEY JyHY 28 21 99. 32 i 16067
192 40 2104 | HEZEEY o8 28 21 110. 27 = 15447
193 40 2201 | HEZEEY ) HE 28 22 110. 27 = 16077
194 40 2202 | HEZEEY )8 28 22 99. 32 g 16167
195 40 2203 | HEZEEY )85 28 22 99. 32 g 16027
196 40 2204 | HEZEBY ) 85 28 22 110. 27 E=ct 15407
197 40 2301 | HEZEEYJ 85 28 23 110. 27 E=ct 16037
198 40 2302 | HEZHEY ) HE 28 23 99. 32 Ec 16127
199 40 2303 | HEZEEY 8 28 23 99. 32 g 15987
200 40 2304 | HEZEEY JyHY 28 23 110. 27 i 15377
201 40 2401 | HE4LBY Jyks 28 24 110. 27 i 15997
202 40 2402 | HEZEEY 8% 28 24 99. 32 2 16087
203 40 2403 | HEZEEY 8% 28 24 99. 32 2 15947
204 40 2404 | HEZEBY JyBY 28 24 110. 27 i 15337
205 40 2501 | HEZEEY JyHY 28 25 110. 27 i 15967
206 40 2502 | HEZEEY 85 28 25 99. 32 = 16047
207 40 2503 | HEZEEBY 8% 28 25 99. 32 JE=ct 15907
208 40 2504 | HEZEBYJhE 28 25 110. 27 Ect 15297
209 40 2601 | HEZEEY I HE 28 26 110. 27 Ec 15927
210 40 2602 | HEZEEY ) HE 28 26 99. 32 = 16007
211 40 2603 | HEZEBY )84 28 26 99. 32 = 15867
212 40 2604 | HEZEDY yH5 28 26 110. 27 g 15257
213 40 2701 | HEZEDY i85 28 27 110. 51 g 15657
214 40 2702 | HEZEBY JyHY 28 27 99. 28 i 15747
215 40 2703 | HEZEEY JyHY 28 27 99. 28 i 15607
216 40 2704 | HEZEEYJ 85 28 27 110. 51 e 15007
DN |
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